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Paper : 6.3
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in 1 word or
in I sentence : 1x7=7

SeTe Ma] (IR O @Bl *R7 77 9Bl IS fed]
fa) What is the meaning of ‘Kulturkampf?

TP’ T 2

(b) Who was the last Tsar of Russia?
FRIR R G (F00) @ e 2

(c) Which treaty was signed by Russia and
Turkey on 3rd March, 18787
© T, Srav CRYC IR WE T WO
T B Frefe 2l ?

(d) Whose assassination on 28 June, 1914
sparked the First World War?
5558 Bd b G IRCY A IR Toree
2o fPagad o1 ¢ 2
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(2) ' ' (3)

() The German Army was limited to how 3. Write short notes on (any three) : 5x3=15
many men by the Treaty of Versailles? 59 o fern (R e fofom)
SpRd pfe SpE S ARl e
TR TIEe e 3R 99 = 2 (a) Adolphe Thiers

e et

Why America did not want to join th
(N y erica did not want to j & (b) Bismarck

League of Nations?

TP o1 afoRss @me 49 [691 R
ifee 2 {c) Revolution of 1905

(g) When was the Locarno Pact signed? ss0e iz

T 3 e SrEfie o2fee 2 (d) Kellogg-Briand Pact
CF1el-qIA pfe
2. Answer the following in brief : 2x4=8 (e) Pearl Harbor

Fafe epprze o7 Ted ford “ffef 2

(@ What do you understand by the War 4. Answer any three of the following questions :
Scare of 18757 10x3=30
I F TR dvae’ e [ gE e e ez R e fofbm Tes fors

(b) What does Russification mean? (a) What were the problems confronting the

Third French Republic and how did it
PRfFceoT =Y 3 7 solve them?

() Who were known as the Brownshirts’ o w0 seaz [ 5 IR TR 2w
and the ‘Blackshirts’? 2fed W @2 TIPS (FEIERT I
QTR S EER AoH @ #If<foe =EE 2 ffRe 2

(d] Why was the Battle of Great Britain (b) Describe the role played by Lenin in the
important? Bolsheviks Revolution of Russia.
eIt oA g= Rew wwreeyd wifee 2 wfam Teceee Rere @ ghem Raca 39
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(4)

(c) How far the mutual rivalries of the
colonial powers responsible for the
outbreak of the First World War?

@ﬁﬁ@%mwxw—m A%
fma cofo (our e 2

(d) Analyse the achievements and failure of
the League of Nations. Give reasons for
its failure.

KT Foorel WE GFerfeon Ko 4 |
TSR Sresrfer F49 & wifke 2

(e} Do you agree that the Versailles Treaty
sowed the seeds of the Second World

War?

I8 pRecy RS Feormt T el ke 9
S SR 2

() What role was played by Japan in the
Second World War? What was its
outcome?

e fme wema & e GAfRe? [
w6 tafee 2

* ok &
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